



Formula radicalilor compuși:

$$\sqrt{A + \sqrt{B}} = \sqrt{\frac{A + \sqrt{A^2 - B}}{2}} + \sqrt{\frac{A - \sqrt{A^2 - B}}{2}}$$

$$\sqrt{A - \sqrt{B}} = \sqrt{\frac{A + \sqrt{A^2 - B}}{2}} - \sqrt{\frac{A - \sqrt{A^2 - B}}{2}}$$

$$\begin{aligned} \sqrt{3 + \sqrt{5}} &= \sqrt{\frac{3 + \sqrt{3^2 - 5}}{2}} + \sqrt{\frac{3 - \sqrt{3^2 - 5}}{2}} = \sqrt{\frac{3 + \sqrt{9 - 5}}{2}} + \sqrt{\frac{3 - \sqrt{9 - 5}}{2}} = \sqrt{\frac{3 + \sqrt{4}}{2}} + \sqrt{\frac{3 - \sqrt{4}}{2}} = \\ &= \sqrt{\frac{3 + 2}{2}} + \sqrt{\frac{3 - 2}{2}} = \frac{\sqrt{5} + 1}{\sqrt{2}} \end{aligned}$$

$$\begin{aligned} \sqrt{3 - \sqrt{5}} &= \sqrt{\frac{3 + \sqrt{3^2 - 5}}{2}} - \sqrt{\frac{3 - \sqrt{3^2 - 5}}{2}} = \sqrt{\frac{3 + \sqrt{9 - 5}}{2}} - \sqrt{\frac{3 - \sqrt{9 - 5}}{2}} = \sqrt{\frac{3 + \sqrt{4}}{2}} - \sqrt{\frac{3 - \sqrt{4}}{2}} = \\ &= \sqrt{\frac{3 + 2}{2}} - \sqrt{\frac{3 - 2}{2}} = \frac{\sqrt{5} - 1}{\sqrt{2}} \end{aligned}$$



Calculați radicalii:

$$\sqrt{6 \pm 2\sqrt{5}} = \sqrt{\frac{6 + \sqrt{36 - 20}}{2}} \pm \sqrt{\frac{6 - \sqrt{36 - 20}}{2}} = \sqrt{\frac{6+4}{2}} \pm \sqrt{\frac{6-4}{2}} = \sqrt{5} \pm 1$$

$$\sqrt{9 \pm 4\sqrt{5}} = \sqrt{\frac{9 + \sqrt{81 - 80}}{2}} \pm \sqrt{\frac{9 - \sqrt{81 - 80}}{2}} = \sqrt{\frac{9+1}{2}} \pm \sqrt{\frac{9-1}{2}} = \sqrt{5} \pm 2$$

$$\sqrt{14 \pm 6\sqrt{5}} = \sqrt{\frac{14 + \sqrt{196 - 180}}{2}} \pm \sqrt{\frac{14 - \sqrt{196 - 180}}{2}} = \sqrt{\frac{14+4}{2}} \pm \sqrt{\frac{14-4}{2}} = 3 \pm \sqrt{5}$$



Demonstrați că:

$$\sqrt{26+6\sqrt{13-4\sqrt{8+2\sqrt{6-2\sqrt{5}}}}} + \sqrt{26-6\sqrt{13+4\sqrt{8-2\sqrt{6+2\sqrt{5}}}}} \in \mathbb{Q}$$

---


$$\begin{aligned} & \sqrt{26+6\sqrt{13-4\sqrt{8+2\sqrt{6-2\sqrt{5}}}}} + \sqrt{26-6\sqrt{13+4\sqrt{8-2\sqrt{6+2\sqrt{5}}}}} = \\ & = \sqrt{26+6\sqrt{13-4\sqrt{8+2\sqrt{5}}}-2} + \sqrt{26-6\sqrt{13+4\sqrt{8-2\sqrt{5}}}-2} = \\ & = \sqrt{26+6\sqrt{13-4\sqrt{6+2\sqrt{5}}}} + \sqrt{26-6\sqrt{13+4\sqrt{6-2\sqrt{5}}}} = \\ & = \sqrt{26+6\sqrt{13-4\sqrt{5}}-4} + \sqrt{26-6\sqrt{13+4\sqrt{5}}-4} = \\ & = \sqrt{26+6\sqrt{9-4\sqrt{5}}} + \sqrt{26-6\sqrt{9+4\sqrt{5}}} = \\ & = \sqrt{26+6\sqrt{5}-12} + \sqrt{26-6\sqrt{5}-12} = \\ & = \sqrt{14+6\sqrt{5}} + \sqrt{14-6\sqrt{5}} = \\ & = 3+\sqrt{5}+3-\sqrt{5} = \\ & = 6 \end{aligned}$$